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2.1 —MEHSKNERAE20kgHEL , WHBEMMEERMA?
& F=ma
F _ 5x10°

.'.azzz 20 =259 m/s?

2.2 ZHAREMHRERFEIFERE—FRAN H— 1 kN Z DI HERE ,
REARHHEER, mEESH?

= N.f}%tﬁzs
L oaom=2x10° x28 = 560008 = 56 kg
“ F P X 3
n=— = 1x10 =17.86 m/:
m 56

2.3 B THNIEE (ERFEA ASERE) B9.80665m/s* , K
R " HDIERE SO kg HES D .
M F=mg =50x09.80665
= 490.3325N
2.4 EENMEER.65m/s* % , WEN 100 kg Eiﬁ?&émﬁﬂ"
B F=mg=100%x9.65 =965N

2.5 %£2=9.70m/s" K, UKERERIFEER . NEBAA? SUE
&Eb(agﬁzs)mmﬁmaxﬁmﬁﬁaﬁ 1S A ?
™ JAXTH ( beam balance )ﬂﬂﬁlkg o
F=mg=1%9.7=9.7N
FIMEM (_spring scalé) MM~

F_ .97 _
¢ 9.80665 ()wsmw

Pre -

2.6 % 10000 W (ﬁitag 9. 778 m/s' ) LI WA E A 2 AR
Bk T X— ol BEROMME 10k , AMORRAF?
F=10g =mg
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2.7

52

2.8

2.9

2.10

. 0} X 9. 806065
_ 10 10X 9-80802 15 03 kg
g 9.778

>

—25kg BB, ARB20L HRAEH K , BES LT EHM AR
mE2m/s* TR CAHTER 1000 kg/m?

250L =0.25m°

m=25+0.25x1000 =27/5kg

F=ma=275x2 =550N

FHE SN WA ST FEEEA . 12,6508 . A RKARED
£ 1 bar FEEEE S Umm? , BRAHREE IS 125 kPa , §E
EOHBBAME L TRE A MEE ,

500mm* = 5% ;0" *m?

1 bar =17 Pa =10°* N/m*

F=4P:=mg

APa _ (125x10*~-10*) x5x10"*

& 9.80665

=1.275 ke

> m=

Gt T LT T

R

BE—PERDN | K AR 3RYATE NS 2m/s? thh
75kg B9 AE RS D0
F=ma=75%x2 = 150N

Bz B 1-65MPa, %1t MM MBS 94 kPa . RABHIE
NET
Pas =1.65MPa + 94 kPa = 1.65MPa + 0.094MPa

= 1.744MPa
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2.1 RAENBRZZAEBDAHERB700mm , Sy LB RYE
95kPa , RAHBVEHNES . BRABEER 13600 kg/m* ?
¥ P=P ~pgl
‘ = 95000 —~ 13600 x 9.80665 x (.7
= 95000 ~93359. 308
= 1640.692 Pa

202 —BGPRABE800kg/m® AN , ERMEE 2K ESR 406mm
‘ o FIMZENERPI?ESEBER 13600 kg/m® K MR H R
o PRGBSI, RUKEE R B BT 7
B AP=pgL =800x9.80665x0.4

= 3138.128Pa
= 3.14 kPa
AP = pa;g X Lug

AP 3138.128
Pas& 13600 X 9.80665
=23.53mm

:Lﬂlz

=0.02353m

208 AASERNSNA—RBERS200kPa 2EH2 , HaEATRE
BR-15°C , NXBNES 35°C, ¥R —DaEHse, XX
RERBUL., KBRS 7 R SRR EE , LTRSS

BEZWE .,
T°C Density;kg/m?
-10 13620
0 13595
10 13570
20 13546
30 ;.. 13521

B p-wo = 13505 + 1> x (13620 ~ 13595 )

= 13632.5 ke/m’
__4P . 200x10°
p-wog  13632.5 X 9.80665

Lx =1.496 m
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215

2.16

35-20 _
soc = ] ———— X ( 13521 - 13546
05 13546 + 3050 (135 )
= 13508.5 kg/m?
P 2 s .
Lg=—2L - 09 > 10 =1.510m

Pisocg 13508.5 x 9.80665
BEER Ly-Lx=1.510~-1.496 =0.014m = 14 mm

—RBEBEARITE2000mG EHyRBP , £=9.75m/s* , 1L
KB ST BB IO DR £ BB ey RS . mB 2.7 HiR,
B2 REE WA 250 mm , & HEES - 10°C (ﬁ@%Z 13)
» BIBRS P kPa ?

2RI
7

[
l 1
l U B2.7

HE2.13Hm P-10cc = 13620 kg/m?
Adp =pgL =13620x9.75x0.25 =33198.75 Pa
=33.2 kPa

EBEA Wb 6K DHR BEE 40m KELEEHEDS 120kPa &
ZEBER1000ke/m® , ERESKEHSH?
P=P +pgl ‘

=120 x 10* + 1000 x 9. 80665 x 40

=120000+ 392266 =5]12266Pa

= 512.266 kPa '

MM ARBLAEMARER 2 EEME , mE 2.8 Fix , R4 B %
BRE , MR A M D K— RERE A % 300 kPa HEHE
B10kg , REE BhayEn ,

Ai= —4”—(0. 1)* =0.007854 m®

Ar=Z(0.025)* = 0.000491 m’
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#WmE

m2.8

720252

. i@ B= 25 mm

F =P,A4 +mg = PrAs +Po(As—As )
:>Pn = ::—[PAAA +m2'_Pn(AA ‘*Aa))
B

1
= ————— (300 x 10® x0.007854 + 10 X 9.80665

0.000491 ,
—100 X 10° ( 0.007854 — 0.000491 ) )

3498913.4 Pa
=3.5MPa

]

2.17 —RERNBTHENE - OREEERE2.1] BiPR IPTS - 68 /5
REARFRHEE 3VEERE . SR s, AREES - ANsms
ERONRDS A TR 5552 , 9147 #110333 84K ( microvolt
)  MBFAMKS

EMF =Co +C*T + C,*T?
RO MEER RE TS 7500 R 2 ABEFAHEBE |
Wi EMF micovorss, = Co +C.T + C, T (°C)

5552 = Co +C1(630.74) + C:(630.74)*
9147 =Cy +Ci (961.93) +C5(961.93)*
10333=Co +C, (1064.43) +C: (1064.43)*
M Co=-2431.535

C,=12.458

C:= —4.378 X 10°*
7500 =Cy +C,T + CT*

= -2431.535+ 12.4587—4.378 x 10~ T'*
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> T=27633.18°C ( ~"& ) & 820.89°C
HEBER 820.89°C

278 R—REEAMEFE2.17 PHNRANMERARENE , HPE=M
MR ERBRE AN, AR\ A THELQEREA EMER ENEE R
KPS RAASEA

M RAT R — BT AT TR R FI R R E R BE R
LARRMER 2~ 85 . KHEWM TR :

{ START )

CHOICE
GET SET EOUATION
TEMPERATURE TO GET C,,C,,C,
L - J
CHOICE

HREAWM% :



B ZFQLATH

10000 S=L0"2+4C1"2+C2~2
10300 IF §>0 GOTO 14300

10600 CLS .
10900 PRINT"Please input three sets of EMF and temperature.

11200 FOR I={ TC 3

11500 PRINT:PRINT I 2 *j

11800 INPUT E(1),T(I)

12100 NEXT 1

12400 C2a(T(2)-T(1) ) R(E(I)~E(1))=ATE3)=T(L)IR(E(I~E(1))
12700 C2mC2/(T(I) =TI/ (TU2) =T /(T(3)=-T(2))

13000 Cl=(E(2)~E(1))/(T(2)=~T(1))={T(2)+T(1))%C2

13300 COmE(L)-T(1)IXCL-T(1)"2#C2

13330 PRINT*CO="j;COj" Cim*;jC1§"* C2w"jC2

13600 BS="aaa* '

13900 PRINT:PRINT:PRINT"What value of EMF do you have ?"
1420Q INPUT EMF

14900 Ti=(-SQR(C1~2-4!%#(CO-EMF)%C2)-C1)/2'sC2

. 143530 T2=(SAR(C1~2-~4!¥#(CO-EMF)I*C2)~C1)/2!/C2

14800 IF NOT(B$S="aaa*) THEN RETURN

14830 PRINT"The temperatures are ! "3T1}" ";T2

15100 PRINT"Want to find another temperature ? AY/N)"}
13400 INPUT AS

13700 IF AsS="Y" OR As="y* GOTO 13900

16000 PRINT:PRINT*Want to try for another material ? (Y/N)"}
16300 INPUT C3

16600 IF C®=“Y" OR C®$="y" GOTO 10400

16900 END

RUN

Please input three sets of EMF and temperature,.

1 ¢ ? 52%2,630.74
2 : ? 9147,951.93
3 & 7 10333,1064,43

CO=~-2431.53s Ci= 12,45793 C2=-4q,378262E-04

What value ot EMF do you have ?

? 7300

The temperatures are : 27633.18 820, 8886
Want ta find another temperature ? (Y/N)? nnN,

Want to try +ar another material ? (Y/N)? n

7
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HIE RAIHY

H-HERHERBRRSm , T ARERESET 100kPa X BE 20°C
@R FRFM R 2 ERAOLEN ,
O 100kPa B 20°C EREWAR , RS RPER-EEREHNY,
3 ,4 3

o 100x10° x =7 - 5
RT ~ 8.3144x10° x(20 +273.15)
21.482 Kmole
Mair = Autr XMasr = 21.482 x10° X 28.9
6208298 g = 620-8298 kg

(@) #atr =

)

1}

100 x10° xg‘ﬂ 5°
(b)ne, =

RT  8.3144 x10° x( 20+ 273.15 )
=21.482 K mole

Mue = Npe XMze = 21.482 X 10° X 4.003
= 85992.45 g
= 85.99245 kg

EI00CHBRERMERRRIZEYBERGE, SEVERS kg B
E® 100mm , WA EELR 97kPa , EXMTARE 2L , RE
HASNOEL .

KJ Nem
R., =0. = .
0.20813 (=5 = 208.13 %
P=97ooo+—‘r’i:r§ﬁ°ﬁsi:103243.1pa
Z(O-l)’

- PV __(103243.1)x(2x10"")
RT ~ (208.13) x(100+273.15)
= 0. 0026587 kg
 =2.6587 ¢ -

DRE R WH RIS R — 41 ey E RGN , i 3.11 B o

s
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M

PN R BN E

EEBRERBO.2m® , EARERE 200 kPa X 500°C , A% RE
BREARARNTSEEH,

@SB AR , RARNERANBES M ?

O HHMENTSIBE EFH20°CH L , Bt RBZE N ?

g W
g ]

R
i) g

Im & 3.11

—t

@V, =0.2x2=0.4m"
Ty =500°C = 773.15°K
P =P =200 kPa
Ve =0.2x1=0.2m?

Py PiVa Vs
mR < =t = L2 ==
o T = T 7 T,
’ 0.2
> h= 50X 77315 = 386.575°K

=113.425°C

OVa=V, , Ty =20°C = 293.15 °K

A A P,V T,
R==-22 - 2373 =22
R R A
293.15
P, = LT we =
= P 386.575 * 200 = 151.67 kPa

E—REXRF LB —RPHARS 150mm2 2L BROER , ne
FIEBTE £ 875 kPa UK Z09M8 . M &TE B2 0.0025kg HHB
25°C, MUK AMBME , ABTERND?

4 .
1’:§’n(~9§1_5‘)’ =1.77%x107" m?®

_{’__V‘: 875000 x1.77 x10~?
RT  8.3144x(25+273.15)

=0.625 mole
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gF=" MEzER N

EXA.8 LAWK He

— B FRAREREAN: FHREE, FABRREZARMES 2.5
m'/s , HEFEMEQREHNE 20Pa RIBER -30°C, H#ARZEE
MEEHKERE?

~ K]
Ror =2.07708 -5 = 2077.03 T
m=2Y . PV
7 " = RT
. 20 x 2.
= 2:5 =9.9%X10"° kg/s

" 207703 x (—30 +273.15)
= 0.00594 kg/min
= 0.3564 kg/hr

BRLa A IRBUR . BEFLIRE E LM 1MPa REMR , AEERES 20°C
 BUITHM , SREFE( FRAEEN ,.100kPa ) THR, BFIE

BD =2m B’\)T*)f’fﬁlt o MRILRYT , AR B HE EREENS
P:PQ—FC(D*D;)’ .
HERBBKENEE D 400kPa , URHBREERS 4m, EHAS
FHABEMER 20°C , RiFHERTROR LM B MO®E .
m =m; =m T]zTg—_-T
® Ve &/BF P, =400 kPa
PV, :mRT:PxVa:Pr[Vr‘F'?‘K(i)’]
3 2
> 10*V: =400 x10* (V, +%r]

V= i‘gﬁ:_zz.um*

3.7 —NEBRAR-HVBEERBEE , E3.12 Bim, —ERER

BIBBER25°C2 2R  FRAZARBO0. 1m* RYEHE 300kPa



T2 M FCHT SE R IR R T AR

, BIR R HHE R 0. 5mEINER IR 100kPa , BUTEEEE AR

BoRUMEEAE  REFRANSBNER P HER , HERX
MWEE B E AR 25°C , K AN KRN RARME BER .

(HM (5L

%A 3.1z
6.5
» V..z%w( =2 2006540

 PuVe, 100X 10° X 0. 0654

T R 0287 < 10° x( 95+ 273.15)
= 0.0765 ke
PV 300X 10° x0.1

T T RT, T 0287 x10° »( 25+273.15)
= 0.35] kg

3.8

My Tmaz +mey Tma +ma = 0.0765 +0.351

= 0.4275 kg
Py = Pug =Pr2 ,T:=Tss =Tas =T, = 298.15°K
Feoec Ds B Vi ocDs® # Vs oc PSP

4 £ Vs . P,
. —— > Vi, =V 3
# ( P ) v 2 Va, 81 ( P )
PV, =P, (V, +VBz):mzRT:
P
> P 0.1+0.0654 % 131 =0.4275 X287 x298.15
” 0654 (oo =107 - !

= 36580.768
R aH #ikd P2= 1.38 Xx10°Pa= 138 kPa

138
Ver = 0.0654 X(, 100 ) =0.172 m?

S

ERT SUEL IR 2 B 4 B R (T 1S 7y BRYE 9
@30°C , 3MPa > &,



